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Q1. - Find the value of the given expression.

feT I gHIHIOT &7 AT ATT HIiaTd
1755+ 39 x (8 -28+4)-2
1.43 2.270 3.-45 4.-315




Q2. R’s weighing machine shows 400 gm when the actual weight 1s 350 gm. The cost price of almonds
1s T880 per kg and packets of 200 gm are made using the faulty machine. What should be the selling
price (in ) of each packet to get a profit of 25%?

. ATEATeh IS 350 TTH 89X R AT S HRAT 400 T fE@Td! 81 SITaT 2T 3 7o 880 Wi foheiiam &
3T FTut TR AT ST ok 200 TTH o Fohe ST ST 8. 25% ST AT TH i o [T Sedeh Tohe T
frshel T (B9 W) AT BT <AT(RW?

1.197.50 2. 182.50 3. 175.50 4. 192.50




\Q3.’ - A group of men decided to do a job in 11 days but 16 men left the work after each day. The

work, as a result, got completed in 15 days. How many men were there initially in the group?

TN o Ueh G = Uk 18 ol 11 ol H S 1 SHEaT Foha clfehd Seeh oo o o1a 16 109 1 8IS ad 6.
qRUTTHESEY, i 15 T H 90 81 a0 S H SHE | fohde 7oy 97
1.480 2.420 3.450 4. 400




Q4. - There are two circles that touch each other externally. Radius of the first circle with centre O i1s

12 cm. Radius of the second circle with centre A is 8 cm. Find the length of their common tangent

BC
31 9 & ST Ueh GO shi SITedl &0 | B €| 3hg O 9Ted Teed o< ohl rsaT 12 |l 21 ohg A STed 8L 3 o

B 8 It 81 3ok IS TRIET BC shl deTs JTd shifsig
D6V6 2)8V6 3)8V3 4)8v2




Q5. A thief steals an item and escapes, running at 20 km/h. A policeman arrives at the spot of the crime

after 6 minutes and immediately starts chasing the thief. 24 minutes after the policeman started to chase
the thief, there 1s still a gap of 400 m between the two. At what distance from the spot of crime would
the policeman catch up with the thief, and what is the speed at which the policeman ran?

Ueh < Tk & AT 8 I 20 Torri/eier <l 1 § Sgd §¢ WIT SITdT 8 Tk YforershH 6 fie o siTe sTory
T YL Ugd1 & R U =X hT T AT & L ol 81 YoTershHi g =X shi e il & i o 24 fie
sfTe; ¥t ET o sfier 400 HicT =T BT 2| ST Tl U feha=iT gl ot qfcerersf 1T ol Tehg i, ST gfcrerehri
forar ifer & g2

1. 15 km; 25 km/h 2. 14.4 km; 24 km/h 3. 12 km; 24 km/h 4. 10 km; 25 km/h




Q6. - A boat goes 20 km upstream and 44 km downstream in 8 hours. In 5 hours, 1t goes 15 km upstream

and 22 km downstream. Determine the speed of the boat in still water.

e TS 8 & H T o icrehed 20 TeRHT 31T T o STehet 44 TohHl STt 8. 5 B¢ H, I8 9T o idsher 15 ot 31
YT oh 1ot 22 Tehal STTelt 8. TRer it | =1er ot 71id STt shiforl
1. 8 km/h 2. 6 km/h 3. 10 km/h 4. 7 km/hr




Q7. Rav1 initially used to save 20% of his monthly income. Recently his monthly income was raised by

25%. His nominal savings also went up by 5%. What percentage of his present nominal income does Ravi

currently save?
Tl Y& | ST AR 3T 3T 20% ST AT ETe &1 H Sl AT 3R H 25% 3t I g8 2t STeh! THAT 6

=d |1 5% &€ T5| U IdHM H AYT 9T ATHHT 3T T fohd=T Tierd s=imdr 22
120 2)15 3)25 4)16.8
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: g 4 men’s work 1s equal to 6 women’s work, and 4 women’s work 1s equal to 6 boys’ work. A boy

finish the work in 60 days. In how many days can the work be finished by a man and a woman together?
1.202.163.24 4. 12

4 TS T 1Y 6 HIGCATS! o 1Y oh SIS &, 3T 4 HIGATS| 3h1 R 6 TSh! o hd o S 2| Toh TTShl 36

T ol 60 TeT H O T Hehell 81 Toh ToW ST Teh Higell ST THeteRt il hi feha fami § qur forarm ST dehal 82




Q10 . A vessel 1s filled with liquid, 5 parts of which are water and 11 parts syrup. What part of the

mixture must be drawn off and replaced with water so that the mixture may be syrup and water in the

ratio 3 ;: 27
Ueh STt o] § W1 §3T &, FSTEehT 5 AT O+t 3T 11 AT T2 2. FH107 Rt foheieT T fHehTelt STHT =Imie 31
Tt | ST foram ST =ty difer fersror 3: 2 o S1ara | féed SfIT ar &1 |eh?

127/32  2)36/65 3)7/55 4) 14/45




\ Qll. - Which of the following sets of lengths (in cm) will give three sides of an obtuse-angled
triangle?

(AT § | SIS o1 3hi |1 6 (HHT H) Teh SAToISI-h10T FTet BI¥[ST ohl oI {STISAT ol JTH HT?
1.18,65,672.17,64, 66 3. 16,63, 654.15, 62, 64




Q12. - S deposits a total of 50,000 in two accounts which give 8% and 12% simple interest annually,

respectively. After one year, he gets a total £5,200. How much money does he deposit in the account

with a 12% interest rate?
S T @Al H el £50,000 STHT AT & ST SHAST: 8% I 12% TNk HTIRUT AT ad 8] Toh 9 o o1, I8

5,200 firetd 81 98 12% ST & o 91 @id 1 ford=T 991 STHT hidT 27
1.%20,000 2.%32,000 3.%25,000 4. 30,000




Q13. A solid cylinder of base radius 12cm & height 15cm 1s melted & recast into N toys each in the

shape of a right circular cone of height 9cm mounted on a hemisphere of radius 3cm. The value of N
1S?

TR B=AT 12cm 3T FATE 15¢m o Ueh 31 o ohl TUEATAT STTAT © 3R 3cm &1 & Mg W 9em
SIS ATl T 1 T o FATehR | Tcdeh i N REeTHI H T STeTl ST &l N sl HIH 11 872

(a) 27 (b) 64 (c) 48 (d) 54




Q14. Tarun owned a plot of land having an area that was 10% more than the area of the plot owned by

Basab, while the area of the plot of land owned by Nakul was 40% more than the area of the plot owned by
Tarun. If the area of the plot owned by Nakul was 2695 square feet, what was the area (in square feet) of
the plot owned by Basab?

X7 o UTE Toh S & [STEehT &heT STl o TTTHeE aTcl S o &% 8 10% AR &, STelfeh Tt %
TS ATt S T & T80T o WTTHeE aTel YEE o &A% H 40% AT 8. Afs Thel o WTiHe aTcl e
T &S 2695 I B T, Al SETe ok TTHeE aTel YES T &A% (S B H) T oAT?

1. 1800 2. 1750 3. 1740 4. 1780
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If 8(x +y)* —27(x—y)? = (5y—x) (Ax* + By? + Cxy), then what is the value of (A + B — C)?
(a) 16 (b) —26 (c) 36 (d) —-16
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QIS. If (x +y)* +27(x — y)* = (Ax — 2y)(Bx? + Cxy + 13y?), then the value of A — B — C is:
(a) 27 (b) 20 (c) 15 (d) 13



Q16. . What 1s the ratio of the average of first eight prime numbers to the average of first ten even

natural numbers?
el TS SWIST HEATAT o e N It 38 H TTehidsh HEATSAT 6 6 3T ST 1 82
(@)1 :7(b)7:80(c)8:70(d)7:8




Q17. Rajan spent 10% of his salary on rent. He spent 20% of the remaining part of the salary on
transport. After which he spent 40% of the balance of the salary on food. Further, he spends 80% of the
balance on various bills. He deposits Rs.5000 in the bank and kept the remaining Rs.1480 for his own

petty expenditure. Find the monthly salary (in Rs).
TS A A T 10% ToRT 9T = shidT 21 98 Jd- o Y 9T T 20% IiesT I @< sHdT 8| 5k 918
3G Ad o AT AT 40% HISH T G [T 38k TATaT, a8 fafy= foret @ 91w afsr &1 80% &= @t 81 a8

e o 5000 T STHT AT & 3T IT 1480 T 39 BIE T o T T Il 2| HTHeh Ja (394 ) I

EAISR]
() 75000 (b) 80000 (c) 82500 (d) 64800




Q18. A man buys 8 mangoes for a rupee. How many mangoes had he sold for a rupee so that there

is a profit of 60 percent?

Ueh 3TTCHT Ueh ¥9 | 2 310 GHIEdT 2| 38 Teh &9 H fohd 319 &= o d1fer 30 Sfard <hi g1 g8
() 3 (b) 4 (c) 5 (d) none




Q19. Anu fixes the selling price of an article at 25% above its cost of production. If the cost of

production goes up by 20% and she raises the selling price by 10%, then her percentage profit is
(correct to one decimal place):

3T Teh e AT Torshdl {od SHeh! SIS AT | 25% 3Tersh 08 a8 Al Icq1e AN 20% 51§ STt & S
T Torora A T 10% AT g et &, AT SHehT AT FcITa 37T 82

(a) 16.4% (b) 14.6% (c) 13.8% (d) 15.2%




Q20. R wants to deposit 80,000 in the bank for a year. In his account, the bank gives 12% simple annual

interest but charges ¥3,000 as a processing fee for the account. What would be his percentage earnings in
the account?

R Ueh 8 o feTU Sfeh H £80,000 STHT shiHT ITEAT 2 39k WTd H, S 12% HTLUT STfYeh ST &l & Wik ©Td oh
[TT SEEahL0T Yeeh o &9 H 3,000 3T Yeoh T ol TTd H IHeh! 3T AT TTc21d AT G2

(a) 8.75% (b) 9% (c) 8.5% (d) 8.25%




Q21. The angle of elevation of the top of an incomplete vertical pillar at a horizontal distance of 100 m

from its base 1s 45°. If the angle of elevation of the top of complete pillar at the same point 1s to be 60

then the height of the incomplete pillar 1s to be increased by

Teh JAYUT Seal e &iW o ST shT IHeh ST H 100 m &IfersT gl 0 I~ shivT 45° B 3fe Uk & foig ot i &w
o TS 3T =T 10T 60 BT &, AT 3707 &G 31 FeTg fohef1 IgT3 ST &2
(A) 50sqrt{2} (B) 100 m (C) 100(sqrt{3}-1)m (D) 100(sqrt{3}+1)m




Q22. The radius of the base of a conical tent 1s 7 m and its height 1s 24 m. What is the length of the canvas

that 1s 2.5 m wide required for this tent?
T 22. Teh Y[FATohT ] oh ST 3T AT 7 HIET 8 3R 366kl HelTs 24 HieT 8. 36 vl o6 foTu AT 2.5 HiX
SIS HAdT shl ASTS T 22

(A) 200 m (C) 260 m (B) 240 m (D) 220 m




